Intersections I	T035 sample solution


Solution:


The number of intersections of these two functions is determined by the number of real roots of the equation


�EMBED Equation.3���


or


�EMBED Equation.3���.


If a = 1 then the graphs of these two functions have a single intersection at 


x = –c/b.


If a ( 1  then the solutions to the quadratic equation are given by


�EMBED Equation.3���


which gives two real values for x if 


�EMBED Equation.3���,


one real value for x if 


�EMBED Equation.3���,


and no real values for x if 


�EMBED Equation.3���.
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